Question Paper Preview

Notations:
1.Options shown in green color and with % icon are correct.

2. Options shown in red color and with * icon are incorrect.

Subject Name: Stream 53

Creation Date: 2016-11-09 16:31:54

Duration: 180

Total Marks: 160

Display Marks: Yes

Calculator: Scientific

M agnifying Glass Required?: No

Ruler Required?: No

Eraser Required?: No

Scratch Pad Required?: No

Rough Sketch/Notepad Required?: No

Protractor Required?: No

Part I Mathematics

Display Number Panel: Yes
Group All Questions: No

Question Number : 1 Question Id : 4356472201 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1
Ao STl ¥ a1 g et (X, V, Z) Tawteal (triples) @a 8, =i @i
x*+yt+z+ 1 = 4xyz
EIEGEEZCIES
A0 B. 4 C. 8 D. 8% AmIL

Options:
1% A

2.9 B
®C

L

4 %D

Question Number : 2 Question Id : 4356472202 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1



7 wifee f P () Srafaes o & 997 T 9E9% (polynomial) &, 5 @ x € [0, /2] #F faw P(sin x) =

P(cos? x) =i dge war 2. Frr T &1 78

I. P(x) w# T9-%aH (even function) .
1. P(x) = (2x — 1) % =gug & B9 § o foha1 =1 Gl 2.
Il P(x) saamwagm g
T
A, Tfimaa B. TATITANTEE
C. FAFITS NITEE D. wfiadE
Options:
1% A
1% B
3.¢¢C
4. %D

Question Number : 3 Question Id : 4356472203 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1
forelT +ft ameafere T 1 & far AF i 6 A, = {7 n vE THfas S & ) B st & e £, 7

A. Ay, A1, Agz T A (infinite) TH==T €.

m
B. A, THURM ug=a 2 3t A1, Agp IRHTET=AR.

T

c. Ay, A1, Apsz TfiviEE o=at.

T
D. A, Agz TiHA gg==1 2 3 A1 FiiHE gq==a .

M

Options:
1% 4
1% p
N

4 D

Lsd

Question Number : 4 Question Id : 4356472204 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1
aeadEm x® — 27x + k = 0 S F AT S0 T 7 &, T TE K H e g aa &

A, 1 B. 2 cC. 3 D 4

Options:
1% 4

1 ¥R
C®

(]



4 %D

Question Number : 5 Question Id : 4356472205 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1

afe (0,3) 9 w=w (parabola) ¥ = X2 + pX + ¢ @i v=wr (slope) —1 %, p + g FTARE

A0 B. 1 c. 2 D. 3

Options:

Question Number : 6 Question Id : 4356472206 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1
ae Hifsg 0 = (0,0): x-wd y- ster q sl g w9 A and B @& % L0BA = 60° 2 7w =fifse f foig D

el IqAT (quadrant) H 39 R & o O AD v Twag Bref= 8. D B ot Savrar #1 g 7

= =

A 3 B. V2
c 1 i 1
) ‘UI'E i 1.."?
Options:
1. % 4
1% p
RN
4 ¥D

Question Number : 7 Question Id : 4356472207 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1

Avid = ok wmem (v — k)2 =4(x—h) 0 =(0,0) =L =(02)F T 2 | a9 = D

AT (latus rectum) %1 3ifc™ 65 2. FiC Waerd &1 96 Y- FAH P wwearea LPDA sTaA 0 7

o i

A tan 11— B. tam 1 —

g Liaos

ol | oA

19 19
Options:
1. % 4
1.9 B
3.8

4 %D



Question Number : 8 Question Id : 4356472208 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct : 1

O @z & uh 34 H, i fag A, P, B 97 = 9ty o 39 uaw foud @ o foig P s =9 AB & aa # 2. 59 LAOB =

g =, ar
e A AOB
{ ) V54 Z
#Za%a( A APB)
% L AOB %126 Fr i, gt T BA0E) e T 2
35 AAPE)
A i: B -V'E— 2
V]
G2 "-.'"I‘?_1+ 3 D. V5-1
2
Options:
1. ¥ A
1 %P
38 ¢C
4. %D

Question Number : 9 Question Id : 4356472209 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 1
e X = {x € R:cos (sin x) = sin ( cos x)}, @1 X =& sraai i gEan
A. 0 B 2 C. 4 D. TRfEaTE R

Options:
1. ¥ A
7. %p
®C

(]

4 %D

Question Number : 10 Question Id : 4356472210 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1



feer o gwie, 3199 &% O 1 UF e UF @ & 1N W g 8 tw e i m e g b0m # g mwgr e, =
oafih e o et 91 P it 30° 3= i1 3l faig 0 %1 60° 3= o w2 3w 2. et fof Forsam #fiet (m) 5 = it

s 1{][}(1 —1%) . 5“;’3

c. 5&(1—%) i 1“:*’3

Options:
Y
1. % p
3.9
4 %D

Question Number : 11 Question Id : 4356472211 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1



(X)) = x +§sin (2mx), 0 < x < 1 % smma = swiw w2 3 fi(x) = f(x) shn =

1R fre1 (%) = (£ ().

-'“'

¥ = fix]

0.5)

a4 = A
L. #ax € [0,1] e lim, ., f, (x) = 0.
I 37 x € [0,1] #mwaiklim, [, (x) = %
nL. s=a x € [0,1] #xaaklim, _, f, (x) = L.

v. @ a x € [0,1] oagak lim,,,.. f, (x) &1 afaa = e

AA R T T T &
A, TFEAITFIII B. FaAII
C. e L, I, I D. LILINEAIV
Options:
I
1. 9B
ERE N
4. %D

Question Number : 12 Question Id : 4356472212 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1

: X .3 =
lim, .. x% | et ~* dt siaasmEm?
x 0

L | =

Options:
1.¥ a

1% p



®C
4 ®D

L

Question Number : 13 Question Id : 4356472213 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1

g wiiEmm 2 — 3ax? + (27a2 +9)x + 2016 =0 =

A. ARAEE Q F T Fa O AR e 5 €

B. ARdta® a & foau FF anafas gw ava €,

c. a=20 FhudmarmEF @@ a < 0 & ¢ Faa o Jwale 0 a9 ¢,
D. a = 0Ffudvarafwm @ a > 0% e Faa v anat=s 7 994 &,

Options:
1 ¥ A

1. % p
®

[N ]

4 ®D

Question Number : 14 Question Id : 4356472214 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1

awy = |x? — 4x% + 3x| Wa-wm 0 < x < 3 F e FT SAHA T2

a7y =]
b B. —
& 4
C. i D. 0
12
Options:
1%
1. % p
3.9
4 ®D

Question Number : 15 Question Id : 4356472215 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1

waawe £:[0,1] — [0,1] H g wemt @ énhi it x wahaws foe f () < x2 o [ f (x)dx =

1 TFE FAAT 8 7

A. 0 B. 1 Cc. 2 D. aHEd
Options:
1.4

1% p



®C
4 ®D

L

Question Number : 16 Question Id : 4356472216 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1
U An e @ R W %o [ 09 g 30 TR d 91 ©
f(x) =min {x —[x],1 —x+[x]},
g{x) =max{x—[x].1—x+[x]}
wet [x] aferan i & < x @ i A [ g(x) — £(x))dx = 100 % n wram A= Em 2
A. 100 B. 198 C. 200 D. 202

Options:
1% 4
1% p
.9
4 ®D

Question Number : 17 Question Id : 4356472217 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1

2f & 7 (plane) § U w dmaRw AR |V — 1 | = |V —2i|= |V~ ] |Rumwwat, | 7 |
T ST (interval) FTE 2

A (0,1] B 12 S D. (3,4]

Options:
1 ® p

i
1% B
3.9
4 ®D

Question Number : 18 Question Id : 4356472218 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
Ok g # D A T % S W % e ¥ | Ags Y A wa H U 7 e el @ S 36 i o g e &
AT S ST S S €. T Wt 71 €t {3 oty e e e o et e ot e et &1 b € 2

b B2
Al B.
r+b (r+b)?
b+1 b(b+1)
" rtb+1 " (r+b)(r+b+1)

Options:
1 ¥ A

1% B



L

®C
4 ®D

Question Number : 19 Question Id : 4356472219 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
i qeTAT Al SEEEH  (noncongruent) FRHT T UEAT WAl BN, A IR qEW @q==A
{10,11,12, ..., 22} ¥ sma & 2
A, 2R3 B. 446 C. 448 D. 449
Options:
1% 4
1 %P
3¥C
4 %D
Question Number : 20 Question Id : 4356472220 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
Correct: 1
A TS -6 1 R 2 (tiles) W $H U g & Toh ST 215 U G Wi TE G 10 3 S s e
T i T =B HE I o AT weETg B, =, -0 U UE-eS WIRR % 2Rl 6 F 0 e € T Y
2 1 T UEE F TEAT O W S Ol 2
A, T IET TR & 2rEA] 4
B. =W H %ae o TEE % a4,
C. 9F H%ad ol TFH & 2l 4.
D. =¥ %ha U THE & 25 J.
Options:
1% A

1 ¥R
C®

L

4 %D

Part [Plysics

Display Number Panel: Yes
Group All Questions: No

Question Number : 21 Question Id : 4356472221 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1



T AT I S197d &Y O ST [E1S %GR AT AT AT 8, A TRad H O FHiae UF Tiawss & 9] o

A. T YETE H YT @,
B. Temfergfas! § a= @,
C. e =TT o T
D. e d o {@Y,

Options:

1. % 4

1% p

3.9 C

4 ®D

Question Number : 22 Question Id : 4356472222 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
= R o1 ok W e O Afae gae WAt v d T g h 59 & v e o 6 30° Fmm g g
=l 2. T 7Til o S Ferd el of fearerar 7€ 2. 7@ h @A Em
A. V%/2g
B. v%/g
c. 3vif2g
B 25 fn

Options:
1% A
2 ¥B
3% C
4 ®D

Question Number : 23 Question Id : 4356472223 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1

v T, formeer wRfas amaae T 2, 1 ST T8W & g0 A0 V @ 2V wam e g, a9
A, TE AT EEE T

B. I WiHAT THaTH .

c. F@uFad fnm #E nRT In, (2) 2 5=f n 79 & 9l & gen 2.

D. 39 9T 5 ©=TdT (Entropy) #9iEiad TedT &,

Options:
1L ¥ A

1% B
®

(]

4 %D

Question Number : 24 Question Id : 4356472224 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1



qeneed A & BIZH UF 9T W AGIda Bid €. 91q ¥ Iodi=id G 3991 & eiag™ T B A o weed e 8
SRI FE=41 R % U STehR =19 | S S 8. 91 % Sl e (T8 @i Hehdl o /ey #19 2)

hc e?B2R2
S | o o
A 2mg
he eBR 2
i T 13( )
A 2m,
he 2 e B R
e | N
A 2mg
2
h BER
D. ——2m, (E )
ng
Options:
1. ¥ 4
2. % p
3. % C
4 ¥ D

Question Number : 25 Question Id : 4356472225 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
U U H & HEE |1 S0 1 F v e, e d o w5 v s s € O fafae e g, 6
A AEH 0W " 9 g0 ¥ W A UF S 9EW (heat reservoir) ¥ Hig & amAE T; = 150K Fwn
Ty = 300K = w@r man 2. 7 =it 7o Ap @9 App 51 90 5 79 &0l @ /red 596-99 (mean free-path) 39
mREfE d > Ayawd > Ay 7@ A/ Ay F1 Feed A Em:

0.25

0.5

0.7

1.0

o 0w p

Options:
1% 4
1% p
.9

4 ®D

Question Number : 26 Question Id : 4356472226 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1



U GAE DS [T FeTAH 11 T TS | 2 &N e SAE i T U R THeH B AH % g
& w1 Jaftafa 3 = @1 8. sk & i fem g % s A e e A fme sur . s W ¢ = O wan
S T AWE =4 Vo T =mar 2. ofmg s afaia R 2. 990

% W M o M M M X
S¢ ¢ N ap BN M N
x x| X o X X ¥
X XepX ! % X %X x
-~ x| X A .4 b 1 .1
N M X 5% U
s h 4 4 S 4 p 4 p 4 =
b > X X X - - o
A, TfTer 5 UfE 9w giiemEd fomm F 2,
B. ©% & 9 O9T & 919 T B ° 94
C. 9ofd: % o UEe B o g a4 %I 75 il R & AT 2,
D. iera & Fd G (power) | % LI .
Options:
R
2. % p
3.¢C
4 ®D

Question Number : 27 Question Id : 4356472227 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
T O RO SR AT (small) TRt AT 3= 3 Ay vt o U (x) = x* /4 — 1% /2 ]| % siia
ey demat)mm t = 0 swagx = —0.5 M W& 3% T & =15 T8 F FEl T A T 87

A, X FETEE I,

B. x=—10masttx =1.0m#+i=4
c. x=—10mastx = 0.0 m&+i=Td
D. x=00maskx=10m&F=7

Options:
1% p
1% B
3.9

4 %D

Question Number : 28 Question Id : 4356472228 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1



T T U 3 T A o T o AT 8. 98 39 1 H1 190 mm TN (Hg) % 3T & wen 1 8, Frefafaa 4 9
Ted Y T,

TS o U &1 29 U1 (Hg) & 190 mm 39 § 9 &,

74 o ST 1] T AR G, AEHSHrd aT 0,25 TAT £

T % Tl &1 Tk 219 O (Hg) & 190 mm T8 T 3704 2,

T4 o GRT AT AT AR o1, aHSHd o & 1.25 T &,

O N w

Options:
1% 4
1% p
3. % C
4 ¥ D

Question Number : 29 Question Id : 4356472229 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
o A g B 1 m A R e e e e dr /d6 = = (1, 6) e i
& TOTTET ST T ST o TAENRET AT & # e o i

30°%.

45° %,

60° 2.

T i i W A .

on w p

Options:
1% 4
1. ¥ B
C®

[N ]

4 ®D

Question Number : 30 Question Id : 4356472230 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
Fespeferega forsrar g foram = @ Wi ol M Seffg T 1 AT %4 47 T 500 (Young double slit) ™
ST ST 2. Tt <iters W 8. afe et forster ot a1 e o STt <t okt <iteTs o Fiehees 7 g

0.5w

0.7w

1.0w
2.0w

pow p

Options:
1% A
1
L ®

(RN ]

4 ®D



Question Number : 31 Question Id : 4356472231 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1

T T o T 1 G Tl A= 9zl o si= 5 T STl 8, Ta1-801 & 98 = e o O o o o weiviy 27

Options:
1% A
]
38 ¢C
4 %D

Question Number : 32 Question Id : 4356472232 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1

it 3ot E o U1 U Jeiag™ 9 ] § U €155 e T 4 T9E (collide) FaT 2. T8 TUg WAy &1
A. Esodram s fom

B. E <10.2eV wfg

c. a9 10.2eV < E < 13.6 eVafay

D. ®#a E < 3.4 eV &fau

Options:
1% 4
2.¥B
3¢
4 ®D

Question Number : 33 Question Id : 4356472233 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
8T %7 o1 o= X aviFs & T (continuous) YT ¥ fAT Swaamt &7
EEINERGREIC]

LRI |
T THE

o nwp

Options:
1. % 4
1% p
_®
4 D

Lsd



Question Number : 34 Question Id : 4356472234 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1

U 3 % ardr GO TA e O e e 6

A. B SA-TETOEE Rl 3o ST e T

B. B Sal-SHTv= Ffa= 3= 71 &1 SFmid o

C. aﬁ'ﬂﬁim-ﬂwﬁﬁﬁﬁ?{ﬁhmﬂﬁﬁﬁq{doubla well) =57
D. e i o e

Options:
1% 4

19p
3 %
4 %D

Question Number : 35 Question Id : 4356472235 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1

T S S BT 1 v ga dded 1077 m 2. g wiem $ 3= E qun seEee ST Ea P e al S19mEE §
E /p wram m

A.1.00x10°

B. 1.50x10°

C. 3.00<10°

D. 1.20=10

Options:
1 ® p

i
1% B
3.9
4 ®D

Question Number : 36 Question Id : 4356472236 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
(G WiEH & T 9H (finite mass) T WA T ST5gIe TUATY] ol 56 Fis1l b1 3o [T ST o 5 Sl o

o F e A B (WA H A = 1.60 X 1072 kg, T @ am= 9.1 x 10~ 31kg)
A.0.06%

B. 0.0006%
C. 0.02%

D. 0.00%

Options:
1.9 A



1 ®p
®

(]

4 %D

Question Number : 37 Question Id : 4356472237 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
e Ul STl Hid S e aiTes 440 nm €, 1 UF THG 59 M % S egER mrare. M 2 S @
WS i € Thiedd Hid ohi 08 IT41T Pich TG (screen) T o1 st WTH ot <1 achal &, Fid S ot O A gl

20.0 cm FewmwE @ 0 F51 100.0 cm 2 (7 s & srgEr 7 &) afk = 6 = 0.50 x 1073
e = 91 e WS S ATl SAfaeT (e 6 Siew el

kY .
s S0 = 20.0 cm &
“-"'-- = Q)
Hrr 1""‘*-.___‘ 0 E
M OAOOOOOOOOOOOOWY A
A, 2.20 mm
B. 2.64 mm
C. 1.10 mm
D. 0.55 mm
Options:
1% 4
2.¥B
3. % C
4 ®D

Question Number : 38 Question Id : 4356472238 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1

T TR 31 35 (Nuclear fuel rod) 5 X 102 watt/m? it & 3= 3ea= ot . 7% stemmen & bt
=1 4.0 mm 7o 7= 0.20 m 2. 38 W v Hiaas, oo T s 4 % 10%]/(kg-K) &,

0.2 kg /s &1 a1 4 30 Wagal €. Hiaad J aITHH= i1 a1 aei?

A. 2°C
B. 6°C
C. B'c

D. 30°C

Options:
1 ® 2

yt

1 ¥ B
®

(W]



4 %D

Question Number : 39 Question Id : 4356472239 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1

s 711 SAfh ohl AT &l T A fRAT ST TET B, T€ TR ST € o 3hr Sl S & (threshold of
hearing) 1KHzZ 20 Sftmet # it 7% telg 594 9kHz W 60 e 7% wredl 2. A1 i =3 iz, =i 78
=t 5 KHz w0 g wehar 2, Freferias o = i

1 kHz #rdwar@ 10 T

1 kHz i dfmar@ 100 71

9 kHz =i digar @ 0.5 71

9 kHz #idimard 0.05 T

g o B @

Options:
1 ® 2

yt

1 ¥ B
®

(W]

4 %D

Question Number : 40 Question Id : 4356472240 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
a1 ST W THAAL AR ° o {6 O g g 4 om g W E wEe: [y 7o I, 7 T A gated g @ €, S an
% == 2 AU T a A 1 CIN g TRk £ 1 A A9 A (non-zero minimum) ST ST, HT GRS
1 ST qUT Ik TR fEeme 2R
Iz

A, — =9, g
B. — =9 gaF

c. == 3 fauia

D. —= 3,591

Options:
1.9 A

1. % p
R

Ll

4 #p

Part I Chemmistry

Display Number Panel: Yes
Group All Questions: No



Question Number : 41 Question Id : 4356472241 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
SCI, F1 ATF (shape) T Tad 3= &7 H T TR J0(q fohaT =77 2:
A. e

B. TATFAF
gl = faTes

D. Tl (see-saw)

Options:
Y

1% p
3%
4.¥D

Question Number : 42 Question Id : 4356472242 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
faw T qrTiiaE difea ST=sTe (overlap) ¥ © %9 OT 21@91T (non-bonding) =816 &1 FETd #aT &

A E.

Options:
1. A

1 ®p
C®

(]

4 %D

Question Number : 43 Question Id : 4356472243 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1



=l o 70 Tl (complexes) # U w1 T Wb AlekadT SuliaT &
A. [CoCl)™

BE. [Cofen)CL,]
. cis-[Cofen),CL,]"
D. trans-[Colen),Cl,]”
Options:
1% A
2% B
3¢C
4 ¥ D

Question Number : 44 Question Id : 4356472244 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1

e 5 A & AT ST % pK, 7 F e E

A. HCIO < HCIO, < HCIO, < HCIO,
B. HClO, < I—IICID3 < HCID_,_ = HCID
e HClO,< HClO, < HCIO, < HCIO
D. HClO, < HCIO < HCIO, < HCIO,

Options:

1% 4

M

3. % C

4 # D

Question Number : 45 Question Id : 4356472245 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1

et hi-ad 2 (foc), H Fi-Ed 941 (bec) UH L ST (pe) STl & U 4T (packing efficiency) F1

7 T ST A &
A fce = bee = pe
B. bee = foe = pe
. pc = bee = fee
D. bee = pe = fee
Options:
1L ¥ 4

1. % p



®C
4 ®D

L

Question Number : 46 Question Id : 4356472246 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
50 K 9 T3S UF 500 K 9 AT3E & F-AT-5 (rms) =7 &1 SIITG =T @
A. 1.18
B. 0.85
i 0.59
D. 1.40
Options:
1. ¥ A
2. % B
B

[N ]

4 ®D

Question Number : 47 Question Id : 4356472247 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1

ﬁmﬁf@qﬁm@ﬁaﬂmﬂﬁ[dipﬂ]e moment) =T EJI‘E%"'

A. NH,
B. NF,
C cO
D. HF

Options:

)

2% B

3¢

4. ¥ D

Question Number : 48 Question Id : 4356472248 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1



Fr=fefias o oeg wfus w95 a1 — W57 TIFToTTE (Lewis acid-base adduct) 2
A. H,0 —> BCl,
B. H,S — BC,
C. H,N — BCl,

D. H,P — BCl,

Options:
1% p
1% B
3.9

4 %D

Question Number : 49 Question Id : 4356472249 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1

DI T AHIETET AgNO, % 19 AR 3e7= e 2

A, CHO B, COzH o CO.H D. CO-H
H——OH H——OH H—OH H——0OH
HO—+—H HO——H HO——H HO——H
H——OH H——0OH H—OH H——0OH
H——OH H——OH H—OH H——OH
CHO COH CH,OH CHO
Options:
1% 4
1% P
3.4°C
4 %D

Question Number : 50 Question Id : 4356472250 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1

S ST B3 H-Hehe &l 5= § THATdd - o e ITIeT faeam 9 arar afaens &

A. H,0
B. H,PO, +H,0
& H,50,+H,0
D. CuCl/HCI
Options:
1 % 4

1.9 P



®C
4 ®D

L

Question Number : 51 Question Id : 4356472251 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
[ FAHIH FAREE (anhydrous AlC,) 1 Iufafd F ereeli= i sAt=iwan 1-#H1-2-4fUa T & F0H W

TH AT T 391G &

HC CH,
HyC
C. \©* D. HSC\©)(

Options:
1 ® p

i
1% B
3.9
4 ¥ p

Question Number : 52 Question Id : 4356472252 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
Errrfg aR
OoH
(CHyCORO
CHyCOOH
T IR E
O._.CHg
OH 5
O
A, c;m/cH3 B.
o O
O
HiC O
C. HiC OH D,
OH
O O
(0]
Options:
Y

1.9 P



®C
4 ®D

L

Question Number : 53 Question Id : 4356472253 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1

Ffertay = o v dtfs, 99 w5 T T sp THEH H &, T

T
(i) HS'C*.I,;'CHD @ | ) i) Hec-oN (v) H,C=C=CHCHs
CHs N
A. (i) T (ii)
B. (iii) T (iv)
£ {i1) T (111)
D. (i) T (iv)
Options:
1. ® 4
2.¥B
3. % ¢
4 ®D

Question Number : 54 Question Id : 4356472254 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1

TF FEEE i WKMHD;?ﬁWTﬁﬁEﬁEﬂ@m & Y § TT-1-6- SIAISE 35 3090 FiT
B, UTSTdh e - A
A. =

Options:
1% 4

. ¥ B
C®

(W]

4 %D

Question Number : 55 Question Id : 4356472255 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1



fereft werm whife sAfIohaT & 50% 0T € | | 92T (1 h ) I =TT & | FHT AR 3 §7.5% 9 2 % fore e
THT BT

A. 1.75h

B. 6.00 h

C. 3.50h

D. 3.00 h

Options:
1% a4

1% p
3. % C
4 %D

Question Number : 56 Question Id : 4356472256 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
FiHTH TARIEE & U HIEHT (unit cell) § =1 HicHad A 2. 30 THE FIHH 7 TARES AEA 6l TETE 7
A. 2
B. 4
o 6
D. 8

Options:
I
7. % p
R

4 %D

(]

Question Number : 57 Question Id : 4356472257 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
Correct: 1

298 K W 1 $eiaeH AT=AT= (redox) HTHTHAT &1 @i femis 3.8 x 10 &) 39 Gream=eyT & foe O foe B

(V ) U= Feh 3Tt FiteeT AGY (kI mol ™' ) s §

A —0.071,—13.8
B. —0.071, 13.8
C. 0.71,—13.8
D. 0.071, —13.8

Options:



1% 4
g
3% C
4 ®D
Question Number : 58 Question Id : 4356472258 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
Correct: 1
At CH,-CH=CH-CH(Br}-CH,-CH, & To7u fafer ommami=mt i o= o &
A, 2

B. 3

Options:
1% 4

1% B
3.9
4 %D

Question Number : 59 Question Id : 4356472259 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
afe teai-atm faeeT avft 5oTh — 5 Pb & %= o va B &4 €1 2, 71 3euf+d o and [3 =il =1 = wE
Eul
A. 60T 63
B. 6T 43
15 saTE 5B
D. sawE6e B

Options:
1 ® p

i
1 ¥R
®

[N ]

4 ®D

Question Number : 60 Question Id : 4356472260 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1



300 K 9T TEAISAAT T (Z) ST 3 (p) & == % = 5 T AR J CH, %1 FRSaar 200 bar ¥ #H FEHE W
w1y o=en. o fare foamar 2|
A

1.8

T (2)
b
A
N\

grdtgEar
5
I
\\X
o

0.2 -
A ¥ e e} -
200 GO0 1000
= (bar)
U] HH &:
A. CH, 1 H1ei, 37100 39 ATG3! STae Fleft 3780 § &9 &
B. CH, 71 H1e% 370 38 e S Hief 180 & T9F &

c. CH, #U31 & 1= Se—HT0= (inter molecular) SIS =2 ST 2
D. CH, 1 AT ST 395 SATa9 ST /et A6 & 987 7

Options:
1. A

1 ®p
C®

(]

4 %D

Part [ Biology
Display Number Panel: Yes
Group All Questions: No

Question Number : 61 Question Id : 4356472261 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1



Frfeafaa 3 & =17 11 0] e T ot WhERa § Co, w1 ura i w8
EIEET

3-FERITAAE

D. #FAadiee

'-

o w oy

Options:
1% 4
1% p
3.9

4 ®D

Question Number : 62 Question Id : 4356472262 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1

Frferfias & & arvpan &1 % o1 7wt ot erigie gy 2w
T ST 9T

T 3 ST

v am e

Options:
1. % 4
7. % p
RN
4.¥D

Question Number : 63 Question Id : 4356472263 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1

ide s Tt 5T el & Fod-379eA § (74 H O 77 9TH 8 & 7
A, TAFE + TTHE

B. ToI&IH + Tefae i

C. Toaeis + feaers

D. Tei¥eis + Wae=

Options:
1% a

-'JEI
S ®C

Ll

4 %D

Question Number : 64 Question Id : 4356472264 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1



s 9 O & O Fu Sl (e o 99 § A48T 27

A, TRTEH s e ad e
B. U Ui 34 ol & forfiretar 4 =2 id €.
C. wHad uidE s Fifsooe & sm IR S £
D. Teafue st st & WidH, Gra=Tens i s srgeity 1281 T8F & &,
Options:
I
1. % B
3 8¢
4.v¥D

Question Number : 65 Question Id : 4356472265 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1
e, T % TR T e Wi TE e #2
2-10%%

A
B. 10-20%
C. 60-80%
D. 100%

Options:

1.9 A

2% B

3% C

4 ¥ D

Question Number : 66 Question Id : 4356472266 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1

T FOI ol e JTel AdE, T, e a O et e e 2
B. Zdied

C. TARMEARA

D. Ufde

Options:
I
1% p
390

4. %D

Question Number : 67 Question Id : 4356472267 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1



ohi-efl dh, S ot S TS 2, FeferiaT | ekt e O w o ot T i Tehe o 3T 9T
&

o0 wp

Options:
1 % A

S

1 ¥R
C®

(RN ]

4 ®D

Question Number : 68 Question Id : 4356472268 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1

A & T J & 91 F T 27

3HH e DNA W7 1T 2.

TE [HREeh I ITTERTS] o T <1 ATl ek =i Jo .
09 DNA 31T W0 ST & 9 = £,

D. 39 %A e 4 T 91 &.

£

Options:
1% 4

1% B
3.9
4 %D

Question Number : 69 Question Id : 4356472269 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
Sl H ITHAT IR ATTH H U G U {9 THE & SIST (junctions), S %1 79 (gap) S @ FS T €. 19
SIS o1 T T 27

BIE VAT o T T TR F TR o F6 B o™ .

TSIt wifiTET %1 v @y w2,

TaTHl % FETE & T 2,

Il | Tk (gap) UG & 3% 3 TR BiE AT &1 35067 (uptake) o™ AL

9O w @

Options:
1. ¥ A

1% p
®

[N ]

4 ®D

Question Number : 70 Question Id : 4356472270 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1



AW T &1 Tefi 0 & faug °§ & a1 S geg 27
A, T9H AT U S E T

B. TH GEFNTE A, T eI % T B 2,

C. 3% HE, Fd-9JHE 2 2,

D. TH Iewhi 39T HIETHE BT 2.

Options:

1% 4

1 ¥R
C®

(]

4 %D

Question Number : 71 Question Id : 4356472271 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1
f=fetid 7 4 % 7 A 9, TR A= (impulses) 3 HEW €7
A. Na K
B. Na,Cl
C. K,
D. K,Ca"
Options:

1L ¥ A

2% B

38 C

4 %D

Question Number : 72 Question Id : 4356472272 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1

frafafas § @ g g, 51 61 = 90 &1 FEfE = g, ST EE arE seg g ear 27
NPt

. Ot Adgife et

ACTH

TS

Options:
1% 4

¥'p
 ®

m

o 0

]

[R]

4 ®D

Question Number : 73 Question Id : 4356472273 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1



g
ATEET

O N E P

Options:
1% A
1% B
v

4 %D

[N ]

Question Number : 74 Question Id : 4356472274 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1

T ST WA T, TSTes =1 9T (lime water) ®, % 9@ 9 I9HT S T T (single outlet) 5T %3 W1
Tz (exhale) Fd €. 39 WIHHAT & AT IHT H &01 SGwT= ST
A. BUETE ST

B. IS & SR

C. I aaaTE T8 e

D. el &l =

Options:

1% a4

2 ¥B

3% ¢
4. %D

Question Number : 75 Question Id : 4356472275 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1

T T Tl I P o T IGEIH ok TaTE ® 9 e d S g
A, TTE ——> AT —— FigueEr

B. HHUREHA —> #% T55] —> TTE

C. HEYRET —> gfigs ——> TTEr

D. Tl — > =% Tes —> HigdieEt

Options:

1% a
2% p
SR

Ll

4 %D

Question Number : 76 Question Id : 4356472276 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1



J@G{Wﬁﬁ?fﬁ:ﬂf@lﬁﬁ Escherichia coli WHWWE ToBT T wiee = FifvEnT & o7 =
TRITITeRT o ST SIS 1 GEH AT Jes | € Hisg e 2.

AT, TehIs o ATedh &l 8 JUAIT Hial 2,

i, Sy o v fareett & s & faafa & s 2,
GEFEEIECERIERICEE R =L eI

O N wp

Options:
1L ¥4

1% p
®

(W]

4 %D

Question Number : 77 Question Id : 4356472277 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1

fFraferfias 8 O oo goeem o fferr afare o &= gedt 22
FEET-A ST

IEL] (toxoids)

TfeREt

O aw &

Options:
1% p
1% B
3%
4 %D

Question Number : 78 Question Id : 4356472278 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1

5= % T %19 @1 - 2T (anion) TR T TEVT F WS FA AT SFAE pH JT F1EH (chyme) % IaTEH T
A. H,PO,

B. HSO,

C. HCO,

D. CH,COO

Question Number : 79 Question Id : 4356472279 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 1



g &ftd 9% & U =g (suspension) ¥, ST TaHTH H=190 &1 2T 2, “cnﬁww%ﬁﬁqﬁrﬁaﬁﬁﬁ:
T T feAET AR ST
A. ATP

B. NADPH

C. NAD

D. 3-FH e
Options:

R

1% p

3%

4 ¥ D

Question Number : 80 Question Id : 4356472280 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 1

71 5 & 1 9 e T % e Forne e 999 (true flower) 37 o #e 27
A, Amorphophallus titanium

B. Rafflesia arnoldii

C.  Nelumbo nucifera

D.  Helianthus annuus

Options:
1% 4

19p
®

(]

4. %D

Part IT Mathematics
Display Number Panel: Yes
Group All Questions: No

Question Number : 81 Question Id : 4356472281 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2

ataew 1+ a2 +x*+ 2%+ +x2 w 1+x+x2+ 23+ + 1! @ e s ot s
=T

A 0 B. 2

c. 1+ x?+xt+-4x10 D. 2(1+xZ+x*+ .- +x1?)
Options:
1 %4

1% B



Question Number : 82 Question Id : 4356472282 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2

: - - A | i il g :
afgagme p(x) = 4x? — 3x, % x wrAm - 5) =TT H B A1 9E98 F W (range) A A FR A Ee

N e TR : A s

c. (—1, 1 w2

( ) % ( 2’2)
Options:
1. ¥ 4
2. % p
3.9 C
4 ¥ D

Question Number : 83 Question Id : 4356472283 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2
T fifeal wF s T WA L = 0vE wkSE gk Sy wE e A d awd gt = 1w F fag
(11 — k)?* gt . fare T oot we o <fifet w & farg w0 o =t 2

A 45 H 1] ol T D. 9

Options:
1% 4
1. % p
3.9

4 ®D

Question Number : 84 Question Id : 4356472284 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2



=1 = i, i e A (Wall), %91 9 1357 o m g €. £ = #0 vh 9l (ladder) ZER W v € Se-Sw
it fearetdl & a1 7o foig wah 31 3 o1 =19 % STaR 9 2, 3 I 1 e #1262

mf? 2
% B. if
4
c. 4af? D. 2mnf?
\
.. Wall
\\\\
'\.\
S
", ™
1‘\& ., — o
N i
N ln;"' — HLHdEF
n,
"x\‘ | == oo i

Options:
1. A

1% p
3%
4. %D

Question Number : 85 Question Id : 4356472285 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2
o e 76 O 5 w6 d Fisan 91l U 99 &1 BeaEE (sector) AB %, £AOB = a(cz g)r-a 0A WD =
ta fig 2 w04, BD F@maa =t 2. o At fefag £, BD #imarfag afn F, awAB wus &

Fg@EF @ QA= oateAma g, 90 AF va9M AB & wearsal &l SJuTd 47 € 2

8
1
1 B. —
A. = 2
ity i &
c. isin6 D, — (zsin o)
2 z g
Options:
N
7. % p
ERE N
4 ¥D

Question Number : 86 Question Id : 4356472286 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2



s = i £ () 57 [0, 00) W e s s wee @ R 2 i £(0) = 0 siwafx > 0F
e f'(x) < 2f (x), i [0,0) &

A f(x) e e wem 2,

B. f(x) Faeaearz.

c. f(x) Fawwens.

D. f'(x) f= (sign) Faean 2.

Options:
1 ¥ A

1% p
C®

L

4 %D

Question Number : 87 Question Id : 4356472287 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2

T g anaew e A & e oam diew F A = ooff melie dems n o o= ' A

| sin (Vn+ 1) —sin (\Vn)| < Asdgeawd, af A, wafos gonet & o= s Ay #w e

A. Ai, Az, Az o TR (finite) T €.

2 5

(&)

B. A

Ax witira gg==a € fg A1, Az AT (infinite) TH==7 €,
3 2 5
c. Ai, Al, A: wfiohfm o= &,
2 3 5

D. Az, A: "RHaag==ae 3k A: smftfad og==a 2.

Options:
1% 4

1% p
39
4 %D

Question Number : 88 Question Id : 4356472288 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2



2
a7 [0,1] s @ f o e wew o R B ) £2 () dx = (j:f(x;}dx) qa f o
T (range)
A HFaAdI g E
B. HaIH whym fag &
c. [0,1] = amm= 2
D. THd &
Options:
R
1% p
3%
4 ¥ D

Question Number : 89 Question Id : 4356472289 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2

o T w: 2,4 w6 et 1 1y f91fR (summer camp) ¥ 9=1d 2. 39 12 F=nfeai &t 6 &0, e
T 1,2,3,4,5,6%, 938 @ 9 3601 € o ued® w90 A 36 T o thae of foare] a5 F e men g

forenfefat &t Fol & SeTET T TFaT & 7
A. 60 B. 45 C. 32400 D. 2700

Options:
1% 4
1% p
3.9
4 ¥ D

Question Number : 90 Question Id : 4356472290 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2

7 it fF @ v Fifga s 9 mg @e (complex number) W ER EfF |a| < 1 #dimw = [lz__a ) Ei|

Z UF ATy TE 8, A1
A |zZ| < 1,viuimdEn z WUEREEE R (w| > 1
B. |[z| < 1l,dwfiz&fae |w|>1%
C. |z| < Lgmfizwfw |w|<1%
D. Z wm AR @ ES |z| < 1 3R |w| = 1#idqest
Options:
1% 4
2. % B
3¥C



4 %D

Part II Physics

Display Number Panel: Yes
Group All Questions: No

Question Number : 91 Question Id : 4356472291 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2
U T AN A Py T o Eiferas 1 i 7 2. 0 oA b S 0 A 5 | e o e e @ e e 8. At
TEAT i At few § Iad qrarEe § frenfa we aien 9

A, TR 2T (ﬁ)i:ﬂmﬁﬁmaﬁﬁwﬁrm%
Pair—FHe 4
Pair— PHe

AT T T AT T Fidl 2.

B. TeaWI 2N -

Pair

S
C. T 27 ( Phie )Imﬁrﬁmaﬂaﬁwﬁrﬁm%
frsre)

Pair—PHes 4
+ I e T
D. weawr 21 | (E2ETEEE )  safer it mwer e e wT R,
PairtPHe/ g
Options:
1% 4
2. % p
3¢
4 ®D

Question Number : 92 Question Id : 4356472292 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2

T THET AT FA 0 AT T & F T ATl (e T T 5 3 O i A S ATl frea e w5
FATEA?

A, 2
s
3
N
2
i
C. 2
D. 1

Options:
1. A

1% p
®

L



4 %D

Question Number : 93 Question Id : 4356472293 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2

1 S =TS o GTeAsh q A U e feu 5 e [ weted € T . 3 an | o A gwie g vl s e,

3
1 I
| |
I I
1 1

ehi & %1 9 fog P 9t g

i Mol
Tr
I'rl 1
B. “i(—+—)
T vl 3 4
C. E\F—T
5 22
2nr

Options:
1% 4

1% p
3 %
4 %D

Question Number : 94 Question Id : 4356472294 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2

w ./ (35h)./8Bmc) = F = 7 7fEE (confined) ToiazH ©F A TUTRE] % BieH F1 Fawiiiud wia €. 78T a4t
Tehdl o AT Y £, 39 FRI SedgH ST AaeT K = 1 @ N 395 § G@AT Hal 2. doadTa eide et n
T 3 M awmd e & s s ufma § AT = 1,75 winded &1 SieH Iefed &1 2. 79

A. n=4:m=2

B. n=5m=3

Options:
1% 4

1% p



¥
4 ®D

Question Number : 95 Question Id : 4356472295 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2
My HT 1M1, ToHE & UST (111 > M) B AT Tedhl SAT W ST =41 8. T8 S U I= (pully), Forhi B
R &1 39 59 915 % W g A0 [, % S T 8, S el 9 et T @ S qeit faa e o e
2. 37 fUet & faamm=een 4t 7ot § I = 21 U 9igl 61 €. 59 Tl US U gl % T ¥ TS € al Al
e e A O foras T &

Mmy—Ma
= S
m L+mg+R—2

[m1+ ?‘T'Igj(m L—mzj

T
mq+ma +E

Options:
I
1% B
39

4 %D

Question Number : 96 Question Id : 4356472296 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2



W M H IFEEEw A —b—c—d—aFIFERA T AT E. WM R A A T (79) - S

(eerdt) A W GEmE T R,

Options:
1L ¥4

1% p
®

(W]

4 %D

1 1 1 L 3 .IJI

U
=
IIJ _~—~— 0
\ ~
l‘"'\—\l
il i
> V
B.
L
e
b /
il
"l
i
i
» V
12,

Question Number : 97 Question Id : 4356472297 Question Type: MCQ Display Question Number

Option : No Option Orientation : Vertical
Correct : 2

: Yes Single Line Question



U Aiw A6y 1| & F= i@, Cy = 3R(1 + aRT)/2 2. 781 a v fenis & 78 19 Iorvia 550 TR &
T = o T TR T & e w8

A, TV =form
B. Tv e =Tam®
c. TV?=Tom=

D. TV " =i

Options:
1. A

1% p
C®

(RN ]

4 ®D

Question Number : 98 Question Id : 4356472298 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2

fr=r gwife T TR iy @& FEw R, Vi(t) = A cos(2nft) @wn e fasa V, (1) = B cos(2mft +
¢) g fe =man 2,

R

I AVAVAY [

Vi(t) GD — Vo(t)
1 1

= 8 4 1 1 e ¢ & f % Ty el 39 TREaA a2,

Options:
1% 4
1% p
3.9

4 %D

Question Number : 99 Question Id : 4356472299 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2



T i % (UeH @ Aque w1 ABC gawi e @ fawd 7 24 = 90°. &9 BC & e U wa i
=1 AB W sAafad wit € 3 = AC 3 qmewii w g e St 8. o g s f S % v BC % aea
&, 71 AC W st €1 1 A B @ [oia: siiafes Tatad el 8. 59 % suadid (1 % a0 F e Fm ae 27

A. \/g{_p[ < 'n.,-'E

B. U >V3

c.,uci:\E

D. \.,"E << x-'ﬁ

Options:
1L ¥ A

1% B
®

(W]

4 %D

Question Number : 100 Question Id : 4356472300 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2
T @ ATl T 92 59 U 1 D %1 U BT 5 39 eI el A1 € o S =1 1 v I ¥ P, 7e =i e
X = a/b. = == ¢ 319 %1 5599 s 0 Welat X 7 3 4 for aofienton &1 dge i &

p
T ______ : Ib
A : »
8 DI _____ st
a
W
A X3—-X2_X-1=0
B. X2—-X—-1=0
c. X34+X2-—-X—-1=0
D X3—X2_X+1=0
Options:
1. ¥ A
1. % p

R

Ll



4 %D

Part IT Chemistry

Display Number Panel: Yes
Group All Questions: No

Question Number : 101 Question Id : 4356472301 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2
fam o Ptz soft
(07 H"
X — = ¥ + 7
H0

X, YT ZFA: 22

A X= 0OH Y—|K = B
= /J\
. -OH
B X= X O0H Y = | ZE
- i
COH o)
C x=©>(c:H y=|‘“- 7 =
P
OH 0
D. X= OOH v=1[ Z=
o
Options:
1 % A
2% B
3% C
4.¥D

Question Number : 102 Question Id : 4356472302 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2



fFr=feTiaa fg=am 5@ (two-step transformation)

Snita

A. (i) HBr, S=1F WIF9T3E (benzoyl peroxide): (ii) CH,CN
B. (i) HBr: (ii) NaCN
C. (i) Br; (ii) NaCN
D. (i) NaBr; (ii) NaCN
Options:
Y
2 ¥R
3% C
4 %D

Question Number : 103 Question Id : 4356472303 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2

faw e satafera SmfT

CHO 1 conc. KOH H*
» x e

9E IU1E X T Y, o E

0
CH-OH
NS a1 NS Gl oo
CO-H
© O
CH-OH CHO o
[ of @ and @Dﬁ D, @: and = 2
CH,OH CH,OH |

o

Options:
1.¥ a

1% p
N

Lsd

4 ®p

Question Number : 104 Question Id : 4356472304 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2



Options:
1. A

1% p
3%
4. %D

Question Number : 105 Question Id : 4356472305 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2

FI (Cu) (TH] AT = 63.5) Feleh FHi-4d 941 (FCC) Teieh § =1d 217 2. Fel 29 8.93 g.om 8, FW
AT i o a #
Al 161.6 pm
B. 511.4 pm
C. 127.8 pm
D. 102.8 pm
Options:
1% A
2% B
3¥¢C
4 ®D

Question Number : 106 Question 1d : 4356472306 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2



E°(Cu’"/Cu) U5 E° (Cu™/Cu) FFE¥T: 0.340 V U= 0.522 V A man &, 73 E°(Ccu™/Cu’) #THH 2y
A. 0364V

B. 0138V
C. —0.182V

D. —0.316V

Options:
Y

1.9 P
3%
4 %D

Question Number : 107 Question Id : 4356472307 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2

feregaeio & et MSO, % 250 mL 0.15 M HTe ¥ 1.5 amp & 9T 250 s T TaTied ol A1 & | 911 6 HE 85 %

i

e e o fere I fam =man @ | famgm s1vaes & 92 Mso, |ie st Jiedal T @ (31 g

A. 0.14
B. 0.0lg
C. 0.07
D. 0.035

Options:

1.9 A

1% B

3 %

4. %D

Question Number : 108 Question Id : 4356472308 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2



T AT &1 THEH TS [10,F,]” A T AT A #

A. sp>d® B. sp2d*

0 —| 2- . —‘ i
F. B 0

N N4
F.‘_{———‘I,:_—:_—:la) 0 E -’i__\_- _—//____,
~~_|II'!L ' S - 'lIII —T:T"G'
r. 2 ‘*-.HL__.-"
= £ F
c sp°d* D. spd®
e
0 ‘2'
N4 N4
o= ¢ e —
r- "Ié I I
£ F
Options:
R
2. % B
3. % C
4. ¥ D

Question Number : 109 Question Id : 4356472309 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2

AT X (F A CoH N, CL,) #72.33 g AgNO, HTe & HMIT (excess AgNO, solution) & STTToHIT &7 1.435 g
AT FAHT 39 FAT € | WH X F FETe i WA T GEE dieehar Ha: € (5 T 2, ) e
(atomic mass): Co= 59, Cl=35.5, Ag= 108):

A. 3,6

B. 3,4

C. 2,4

D. 4,3

Options:
1 ¥ A

1. % p
®

[N ]

4 ®D

Question Number : 110 Question Id : 4356472310 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2



208 K T Ufdlesh 305 & 0.02 M <19 g1 &1 fafeme Seasar (K) 1.65x 10 Scm | & | Uiiea o= &1 foi=m
ATAT (degree of dissociation)  (feam T 2, 9@ @391 W TWGH F@FA: H = 349.1 S cm’ mol ' and

CH,COO0 =40.9 S cm’ mol )

Al 0.021
B. 0.21
. 0.012
D 0.12
Options:
1 ¥ A
2% p
3% ¢
4 ®D
Part II Biclogy
Display Number Panel: Yes
Group All Questions: No

Question Number : 111 Question Id : 4356472311 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2

TE | TR o JaTer] S HHE 11 H i S aars T4 £ 3! g Ho Fid g8 Hel Garem
(combination) T =47 &,

e | Tz 1

P. IR i 7

Q. Tt ii. foree

R. Eftd wa% TR E | DS
S. AWEHEHE iv. fEa= =g

A, P-1i, Q-1, R-iii, 5-iv
B. P-iil, Q-1, R-ii, 5-iv
C. P-iv, Q-i, R-ii, 5-1ii
D. P-iv, Q-ii, R-1, 5-11i

Options:

1. A

1 %P



®C
4 ®D

L

Question Number : 112 Question 1d : 4356472312 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2

T 200 SAFHAT Al A STETET 8 R T [ Y (locus) G S T H ¢ €, 7S Sl 30 B
2 =11 o B2 Saferal &1 3091 i T ¢ T WA 2. A5 St ¥ 90 7T, 40 Tt 3T 70 ## 5 TET (genotype) E AT
ST STETET H 5§ G STATAT bl ST [T g

A. T,050;t 0.50

B. T,0.55;t,0.45

C. T.0.45:t,0.35

D. T,0.90:t0.10

Options:
1% A
1
L ®C

[R]

4 ®D

Question Number : 113 Question 1d : 4356472313 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2

Afa pO, AT F AT 2 1 H50a Far & 1 F=feiaa § 9 519 |1 @it derse F o a5 w95
TETF WIF | Z30an 27

A. B g
- Sl .
= £
= — — - e — = ™
m{:_ﬂ & m:_ﬂ »
Q0o g % B © pa™
ol =i - o e B N
o £ 2 - o C 2 e
ul_jE ,-'r H—:E \\.
0O+ @ - o+ ~
= ?E|S = R e :
. = 11
pO, pO,
C D
1'.. ,-r"'ﬂ-'_}
c £E ’ - £ E o
& 6 © . @ 2 ’
a = # an o & ]
e = # :"'-J—-ﬂﬂ I
5 r o ¢ 5 @0
n.-E . Q i
q—j '-l--:FE J
0 = @ |/ o 2 o /
2 @ |y m o #
gm_.:! 3?.1-"'_1:__,-"
pO, PO,

Options:
1% 4



1% p

3%
4 ¥ D

Question Number : 114 Question Id : 4356472314 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2

Ffe HITTHT =2 1 HAT, G1 FTEIT, 7 DNA 1 77 C 3O 0 6 2N of, & Jwg! faamem 7 S-
SEET T M-3T54T 5 T270 S0 Hel 2917 =ht same == O | &1 |7 foehed S 27

S-S 7 2C 37 2N; M-3F€1 | 2C 31 2N

S-3TFEITH 2C 31 N; M-31954TH 2C 3T N

S-3FEIT | 2C 3N 2N; M-3391 ° C 1 2N

S-3FEITH C 3 N; M-37381 " C T 2N

o0 wp

Options:
N
R
3¢
4 %D

Question Number : 115 Question Id : 4356472315 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2

Teu mu s w T geita it & o=t &0 S 39 T YR S SaY 1 ST T S, THET A 5
= 1 9wl famew o1 g i,

Metabolic rate

=
-
-
-

Body mass

A. SO, 35§ Et e HiSE €, et Bre Wit A e @ a€ a9 aoht i e wE A s ae w E

B. U wilde I H S W ATl B W10 U 7= H =56 & °rl a0 31 56 shifde Wi # Same1 Wi =Tl @8 Jr
T o ST A0E .

C. woft, % # et e HieE #, et @2 Wit At s € 72 v it e T ww A dn e

D. U il W H SATET IR 36 7% W1 U T3 § 7 & anl vk SR 39 Hifae I | FH 9 aTe e1e ot
T % gl E

Options:

1. A

2% p

SR

Ll

4 %D



Question Number : 116 Question Id : 4356472316 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2

TIE | W S il % I3 € S EE 11 H 49T A . 3 e w5 ae e
(combination) T 37 FF.

aE | Tl
p. foFmmger et i. Tt wagmo
Q. IS ii. TFATSE TAHE & 2t J iy
R. Bt ifi. TS fame
S. SATAT-HIEET iv. HTHE =T
v. AT HETT

A, P-ii, Q-1, R-iv, S-v
B. P-i, Q-iv, R-ii, S-v
C. P-ii, Q-i, R-v, 5-iii
D. P-v, Q-iii, R-i, S-ii

Options:

1. A

2% B

C®

(RN ]

4 ®D

Question Number : 117 Question Id : 4356472317 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2



DNA % T @vg fSreeht i 311 3°-TACATGGGTCCG-5" ®, | U 30 978 RNA %7 ¥l (transcription)
BT 78T 2. SaTEA (translation) #F wian & 2, F fomm 7 aw st waTee (RNA S5 & due 1 98 #9
FEATE?

-------- > amino acid
moieties
T T 1 ' 1T 1 = [T [ .
AUG UAC CCQG CCU =+====== > anticodons
(a) (b) (c) (d)
A. ab,ed
B. b,acd
C. c,dab
D. b,adc
Options
1. ¥ 4
1. ®
3. % C
4 ¥D

Question Number : 118 Question Id : 4356472318 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2
A< feret Treies et AT (PCR) 1 353014, DNA = 1000 30T 8 =1 T 1 20 66 (cycles) % 920
IeTfed DNA 310731 %1 6 &1 Faean 99 foae g

ON Wy

1% 4
1% p
3.9
4 %D

Question Number : 119 Question Id : 4356472319 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2



SAET, ATl % et 71 F1 e ‘B°, &l % L T3 3Tefiel b T AITET € T8l 3@l = ¥ &7 Sedlel ‘B, Ai@i &
Sfret {13 arefret e’ TR . A% O STt Tt S S St (BbEe) AT SOft S G S et S g st
(bbEE) =Tet WToft & sret & 1 STH oAl § G arel A1 it A7 arelt daiaal ST s [t A1 gl i aret
Tt 3 e i T S B

A 21

B. 3:1

C. 1:1

D. 1:2

Options:
1. ¥ 4
1 # g

3.¥C
4 ¥ D

Question Number : 120 Question Id : 4356472320 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2



=t et et e o U W Sy T, Sw U e WS S -0 o = g
ST o9 & WHTE &I JT91 7741 2. §6 STTHR T 6 T159 W1 o 310 S a7 Fo4 §ed 87

Light Dark
| 16 hrs No flower
| 16 hrs 7 hrs No flower
| 16 hrs 8 hrs No flower

| 16 hrs 9 hrs Flower

| 16 hrs 10 hrs Flower

| 16 hrs 11 hrs Flower

LT Flowier

| 10 hrs 10 hrs Flower

| 12 hrs 10 hrs Flower
| 8 hrs 8 hrs No flower
| 10 hrs No flower
| 12 hrs No flower

A. R T, e YaithenTed gt @ S A o fa7 & s, gor & g 2
B. ¥ WA, 3ed WEITRaRTe T 2 S e 8 T T =i o 3 A 2.
C. T Wi, 3o WelferTeil Jham & 371 ST o T =l 3= 9 3 A1 e,
D. @ wentd, g weifiepredt ot € o7 aveae | fam & st gor | a2,

Options:
1% A

1B
®C

Led

4 %D



